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QUESTION 1

What are two descriptions for an IOT SDWAN use case? (Choose two.)
A. Office365 video conference applications

B. high bandwidth requirements

C. hub and spoke topology

D. full mesh topology

E. harsh, outdoor environments

Correct Answer: CE

QUESTION 2

When two protocols are supported by Secure Equipment Access? (Choose two.)
A. Industrial protocols (Profinet/CIP)

B. remote access (Telnet/SSH/VNC/RDP)

C. SSL and IPSEC VPN

D. FTP and SFTP

E. Web (http/https)

Correct Answer: BE

QUESTION 3

As a Tri-Radio architecture, which three frequencies are supported on IW9167E? (Choose three.)
A. 2.4GHz

B. 6GHz

C. 1GHz

D. 160MHz

E. 900MHz

F. 5GHz

Correct Answer: ABF
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QUESTION 4

How are the power inputs labeled A and B of IE3400 used?

A. Both inputs are connected, and the power budget is the sum of both power inputs.
B. Both inputs are connected: only one is active, and the other is on standby.

C. It can only wire one of the power inputs.

D. Both inputs are connected and used to daisy chain to power another switch.

Correct Answer: B

QUESTION 5

Which two 10T routers or gateways are used when a customer requests two active LTE connections? (Choose two.)
A. 1G21 gateway

B. IR1101 without expansion module

C. IR1101 with expansion module and cellular modules

D. IR1831 with dual cellular modules

E. IR1821 with dual cellular modules

Correct Answer: CD
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